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ECONOMICS

( Honours Core )

Paper : ECO-HC-5016
( Indian Economy—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
@ Al PN e faa

(a) Define infant mortality rate (IMR).
ey JoraRT e fan |

(b) What is the sex ratio in India according
to 2011 Census?

0% Y CIRHE PR SISy g Sere
&2
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(c)

(d

(e)

()]

r)
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(2)

In which year was the National Rural
Health Mission (NRHM) launched in
India?

SRTS (@FH 5T° IR A I SRAN 7S
91 (2fX@?

What is the full meaning of MGNREGA?
MGNREGAT 79 &% % 2

What is dependency ratio?
TR SRS 2

Integrated Rural
(IRDP)

When was the
Development Programme
implemented in India?

SRS TS AT G o (@l AT 3
=2

Which State of India is having the
lowest density of population as per 2011
Census?

303 TR CIRPHE WO ST (T 7S
GARIOT TG ADIRSLF 9 ?

Which type of unemployment has zero
marginal productivity?

@I 21T TR 21T Testmamiaret = 2

( Continued )

@

(3)

In which year was ‘the Rashtriya
Uchchatar Shiksha Abhiyan (RUSA)
launched?

@FF TS W Swed e St wiee 4
e ?

() Who developed the Human
Development Index (HDI)?
T e I (I GO e 2
2. Answer the following very shortly : 2x5=10
©eTs A oS e Tey
fa) What do you mean by Lorenz curve?

(b)

(c)

(@)

24A/145

ESERSKIRICREE b

Mention two objectives of the‘. Integrated
Rural Development Programme (IRDP).
KRS AR S S (51 Sl Sear 40 |
What is Human Development Index
(HDJ)? |

T ST R AT 2

Mention two causes of
unemployment in India.

SO A1 ARG 01 IR ST 740 |
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(4) (S)

(e) Mention two features of Indian economy | fe) What measures have been taken by the
at the time of Indepenence. Government to reduce income
FTo TS SROR SRR 751 e e inequality in India? Explain.

9 | TEE (Ol 7Y IRIAA RO I [T B

IR T[SS (ACR 7 HAELH] 41 |

3. Answer the following shortly (any four) :
& 5x4=20 ~ () What are the major features of regional

imbalance in India?

BIRGT)
i e o (R o o) SRS HHfTF (IO A4 FRFIE F [ 2

(a) Write briefly about the National
Education Policy (NEP), 2020.

T PR, Lox0 T I form1 4. Answer any four of the following questions :
(b) “Development is taking place regarding 10x4=40
the health services in India after oo Tl oM@t R’ e vk S fra -

Independence.” Give reasons.

“qBAEd IO ORES FW ORI A
Car= 17 9 IR B4

(a) Discuss the growth and development of
Indian economy during the post-
Independence period.

(c) Briefly mention the factors responsible FAATE FeTe SR TYART IH S T
for poor rate of investment in India. ™o [ 90 |
sree RcsR Hy @ FRPR F~ewe
forar ' ~ (h) Make a comparative analysis between
India and neighbouring developing
(d) What is the present status of health economies during the recent decades.
e sector in India? Discuss.
- Ree RO SR wiF  {Aehad
TRTS IS FRIIGT SAE (FCAFAT, SCEAA S AR WS OB QeI
AR Rz w11
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()

(d)

(e)
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(6)

What do you mean by poverty? Analyse
the  various  poverty alleviation
programmes introduced in India after
Independence.

wRgel A & @7 FReTeT FES ARGl
AT A SR A9 1 ffen wibhEER

HICEAAT 4T |

Discuss the different measures to solve
the problem of unemployment in India.
oS EE TP TR AT A
fafon PR ScEm 4 |

Explain the importance of domestic
savings as a prime source of capital
formation in India. Analyse the trend of
domestic savings in India.

TROS PG SN Y T Rpet e Ao

BTG P 91 | SO TFY ALF 4[] TooE
Rema w11

Discuss the different causes of
inequality in Indian economy. Mention
the different remedial measures
undertaken by the government to
reduce inequality.

SRee wies v f{ifen IR A
N e  wies WA AT R

R R afsempe IR TN
SeEy 4 |

{ Continued )

(g)

(h)
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(7))

What do you mean by population
explosion? Analyse the causes for the

high rate of growth of population in
India.

G -RETRT WA 5 o627 Soe T© opiR
I PR Rewme 4 |

Explain how the demography of Indian
population has changed after
Independence with its impact on
economy of India.

FRCTST TS ST SRR [qRE R

ARfSs (e W oRey weHifvs W oo
MR ARCR, SICEAmA T4 |

* K K

3 (Sem-5/CBCS) ECO HC 1




